



(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

#### MOIDON F GAD ANA NOVE

A real function it is called an even function if f(-n) = f(n) for all n. If f(n) is an even function then  $\int_{-\alpha}^{\alpha} f(n) dn = 2 \int_{-\alpha}^{\alpha} f(n) dn$ . Eq.  $n^2$ , win, |n|, n  $n^2$ .

A lead function 't' is called an odd function of f(-n) = -f(n) for all n. By f(n) is an odd function then  $\int_{-\alpha}^{\alpha} f(n) dn = 0$ . Eq:  $n^3$ , sinn, newn.

HOURIER SERIES Expansion in (-17, 17): f(m)= ao + & anwm+& brim n=1 where ao = # I f(m) dn; an = # I f(m) worndn; bn = # I f(m) minndn where ao = # I f(m) is an odd function, then foreign expansion is

-f(n) = = bn sûnn, where bn = 2 1 f(n) sûnn da.

[ao = an = o, sûnce f(n) & an odd function]

of fem is an even function, then fourier expansion is

&  $a_n = \frac{2}{\pi} \int_{-\pi}^{\pi} f(n) as nn dn$ 

[bn=0, since 7 m) even = even x odd = 07





(An Autonomous Institution) Coimbatore - 35

#### **DEPARTMENT OF MATHEMATICS** UNIT-I FOURIER SERIES

1) Find the fourier series for fin = n2 in - TI < n < TI and deduce

that (i) 
$$\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \cdots = \frac{71^2}{6}$$

(ii) 
$$\frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \cdots = \frac{\pi^2}{15}$$

(iii) 
$$\frac{1}{1^2} + \frac{1}{3^2} + \frac{1}{5^2} + \cdots = \frac{71^2}{8}$$

Now 
$$a_0 = \frac{2}{\pi} \int_{-\pi}^{\pi} f(x) dx$$
  
=  $\frac{2}{\pi} \int_{-\pi}^{\pi} r^2 dx = \frac{2}{\pi} \left[ \frac{\pi^3}{3} \right]_{-\pi}^{\pi}$ 

$$a_n = 2 \int_0^{\pi} f(n) \operatorname{dsnn} dn$$
.

$$=\frac{2}{\pi}\left[n^2\frac{ninn}{n}-2n\left(\frac{-asnn}{n^2}\right)+2\left(\frac{-ninn}{n^3}\right)\right]^{\frac{1}{n}}$$

$$= \frac{2}{\pi} \left[ 2 \frac{n \cos n}{\Omega^2} \right]^{\frac{1}{1}}$$

$$= \frac{2}{\pi} \cdot \left( \frac{2\pi}{n^2} \operatorname{usn} \overline{1} \right) + \operatorname{usn} \overline{1} +$$

$$= \frac{4(-1)^n}{n^2}$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

Deduction:

$$\frac{1}{3} + \frac{1}{3} = \frac{1}{3} + \frac{1}{3} = \frac{1$$

(ii) put 
$$n = 0$$
  $\beta$  continuous point.  

$$\frac{1}{3}(0) = \frac{\pi^2}{3} + 4 \underbrace{S}_{n=1} \frac{(-1)^n}{n^2} \operatorname{cusn}(0)$$

$$0 = \frac{\pi^2}{3} + 4 \underbrace{S}_{n=1} \frac{(-1)^n}{n^2}$$

$$\frac{\pi^2}{3} = -4 \left[ -\frac{1}{1^2} + \frac{1}{2^2} - \frac{1}{3^2} + \frac{1}{4^2} - \dots \right]$$

$$\frac{\pi^2}{12} = \frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \dots$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

(iii) By adding (i) & (ii) we expet.

$$\frac{\pi^2}{b} + \frac{\pi^2}{12} = \frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \cdots + \frac{1}{1^2} - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \cdots$$

$$\frac{8\pi^2}{124} = 2 \left[ \frac{1}{1^2} + \frac{1}{3^2} + \cdots \right]$$

$$\frac{\pi^2}{8} = \frac{1}{1^2} + \frac{1}{3^2} + \cdots$$

$$\frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} = \frac{$$





(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

$$= \frac{2}{\pi} \left[ (n\pi^{2} - n^{2}) \left( -\frac{\cos n\pi}{n} \right) - (\pi^{2} - 3n^{2}) \left( -\frac{\sin n\pi}{n^{2}} \right) + (-6n) \left( \frac{\cos n\pi}{n^{3}} \right) - (6) \left( \frac{\sin n\pi}{n^{2}} \right) \right] + (-6n) \left( \frac{\cos n\pi}{n^{3}} \right) - (6) \left( \frac{\sin n\pi}{n^{2}} \right) = \frac{2}{\pi} \left[ -6\pi \frac{\cos n\pi}{n^{3}} \right]$$

$$= -12 \left( -1 \right)^{n}$$

$$= -12 \left( -1 \right)^{n}$$

$$= -12 \left( -1 \right)^{n+1}$$

$$= \frac{1}{n^{3}}$$

$$\therefore f(n) = 12 \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n^{3}} \sin n\pi$$

$$\therefore f(n) = |n| \text{ in } -\pi < n < \pi$$

$$\text{Alt } f(n) \text{ is an even function}$$

$$\text{Att } f(n) = \frac{a_{6}}{2} + \frac{2}{n^{2}} \text{ an } \cos n\pi$$

$$\text{fow } a_{0} = \frac{2}{2} \left( \frac{\pi}{n^{2}} + \frac{2}{n^{2}} \right) = \frac{\pi}{n^{2}} + \frac{2}{n^{2}} =$$

Now 
$$a_0 = \frac{2}{\pi} \int_{-\pi}^{\pi} f(n) dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} f(n) dn = \frac{2}{\pi} \left[ \frac{n^2}{2} \right]_{0}^{\pi} = \pi$$

$$a_0 = \pi$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-1 FOURIER SERIES

$$an = \frac{2}{\pi} \int_{0}^{\pi} f(n) \operatorname{cusnn} dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} n \operatorname{usnn} dn$$

$$= \frac{2}{\pi} \left[ n(\frac{\operatorname{uinnn}}{n}) - 1 \left( -\frac{\operatorname{usnm}}{n^{2}} \right) \right]_{0}^{\pi}$$

$$= \frac{2}{\pi} \left[ \frac{\operatorname{cusnm}}{n^{2}} \right]_{0}^{\pi}$$

$$= \frac{2}{\pi} \left[ \frac{(-1)^{n}}{n^{2}} - \frac{1}{n^{2}} \right]$$

$$\frac{f(n)}{f(n)} = \begin{cases} 1 + \frac{2n}{\pi}, & -\pi < n < 0 \end{cases}$$

$$\frac{f(n)}{f(n)} = \begin{cases} 1 - \frac{2n}{\pi}, & 0 < n < \pi \end{cases}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ odd}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ is an even function}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ is an even function}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ is an even function}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ is an even function}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n)}{d(n)}, \text{ is an even function}$$

$$\frac{d(n)}{d(n)} = \frac{d(n)}{d(n)} = \frac{d(n$$





(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

Now 
$$a_0 = \frac{2}{\pi} \int_{0}^{\pi} f(n) dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} (1 - \frac{2}{\pi}n) dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} (1 - \frac{2}{\pi}n) dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} (n) dn dn$$

$$= \frac{2}{\pi} \int_{0}^{\pi} (1 - \frac{2}{\pi}n) dn dn$$

$$=$$